Name_______________________________

Date_______________________

Advanced Algebra

Back Substitution
Solve each system of linear equations by the back-substitution method.  Check your solution algebraically and graphically.

1) 2x – y + 5z = 24

        y + 2z =  6

                z =  4

2)   x                  =  8

2x + 3y         = 10

  x –   y + 2z = 22   

3) 4x – 2y +  z = 22

                    2z =   4

          –   y +  z =   4

4) 2x         + 2z = 2

5x + 3y         = 4

        3y – 4z = 4

